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KALAIMAGAL MATRIC HIGHER SECONDARY SCHOOL, MOHANUR.

STD :XlI MATHEMATICS MARKS: 50
DATE: ONE MARKS TEST-V (BB FULLY) TIME: 30 min
Choose the correct answer: 50x 1 =50

1. If the function f:[ —3,3] — S defined by f(x) = x?is onto, then S is

1) [-9,9] 2)R 3)[-33] 4)[0,9]
X if x<1
2. Theinverseof f(x)={ x> if 1<x<4 is
8Jx if  x>4
x if x<1 -x |if Xx<1
1)fix) =4Jx if 1<x<16 2)f4x) = {v/x if 1<x<16
2 2
X XT .
— if  x>16 2
64 " if X >16
X2 if x<1 2x if  x<1
3) f1(x) = {+/x if 1<x<16 Afix) =Jx if 1<x<16
2 2
X it x>16 X it x>16
64 8
3. The function f :R— Ris defined by  f(x) = sin x + cos x is
1) an odd function 2) neither an odd function nor an even function
3) an even function 4) both odd function and even function

(x* + cosx)(1+ x*)

(x —sinx)(2x — x°)
1) an odd function 2) neither an odd function nor an even function
3) an even function 4) both odd function and even function

5. If 8 and 2 are the roots of x? + ax+ ¢= 0 and 3,3 are the roots of x? + dx+ b= 0, then the roots of the
equation x*>+ ax+b=0are

+eis

4. The function f: R— R is defined by f(x) =

11,2 2)-1,1 3)9,1 4) -1.2

6. If K = 2 + ! , then the value of k is
x+2)(x-1) x+2 x-1

n1 2)2 3)3 4)4
7. The number of roots of ( x+ 3)*+ (x+5)*=16is

1)4 2)2 3)3 4)0
8. If f(8) = |sin 6| + |cosH|, 6 € R,then f(6) is in the interval

1) [0, 2] 2)[1, V2] 3)[1,2] 4)[0,1]
9. The triangle of maximum area with constant perimeter 12m

1) is an equilateral triangle with side 4m 2) is an isosceles triangle with sides 2m, 5m, 5m

3) is a triangle with sides 3m, 4m, 5m 4) Does not exist

10. If sina+ cos o =D, then sin 2« is equal to
)b -1,if b<+2 2)b*-1if b>+2  3)b? —Lif b>1 4B —1if b>+2
11. The number of ways of choosing 5 cards out of a deck of 52 cards which include at least one king is

1) 52Cs 2) % Cs 3)%2Cs +%Cs 4)%2Cs — “Cs
12. The number of rectangles that a chess board has
1) 81 2) 9° 3) 1296 4) 6561
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If P; stands for " P; then the sum of the series 1+ Py + 2P, + 3Ps+ ...... +nPyis
1) Pre1 2)Pre1—1 3P, ,+1 4) ODp o

If "C4 "Cs, "Cs are in AP the value of n can be

1) 14 2)11 3)9 4)5
The n'" term of the sequence E E Z —5 ........ is
2'4'8'16°
1) 2"-n-1 2)1-2"" 3)2"+n-1 4) 2m1
The value of the serles1 +— I +E Q +..n IS
2 4 8 16
1) 14 2)7 3)4 4)6
The coefficient of x° in the series e is
2 3 -4 4

1) — 2) — 3) — 4) —

) 3 ) 2 ) 15 ) 15
If a vertex of a square is at the origin and its one side lies along the line 4x + 3y — 20 =0, then the area of the
square is
1) 20 sg. units 2) 16 sq. units 3) 25 sq. units 4) 4 sg. units
If the lines represented by the equation 6 x?+ 41 xy — 7y* =0 make angles o and B with x axis then tan
otanp =

6 6 7

1) —— 2) — 3) —— 4) —

) 7 ) 7 ) 5 )
The area of the triangle formed by the lines x*—4y?> =0 and x=a is
1) 2a? 2)l/§a2 3)1a2 4)—2—a2

2 J3

2c0s0+3sinO is

0 is acute angle between the lines x> —xy —6y? =0, then —
4sin0+5co0s6

1 5 1
1)1 235 D% 935

If U denotes the greatest integer less than or equal to the real number under consideration are

X+ Lyl 2]

-1 <x<0, 0<y<l, 1<z<2, thenthe valueof the determinant | |x| |y |+1 |z] |is
] v] L+
D[z 2) Ly 3) 1] 4 [x]+

-1 2 4 -2 4 2
IfA=|3 1 OandB=|6 2 O0f,thenBisgivenby
-2 4 2 -2 4 8
1) B= 4A 2) B=—4A 3)B=-A 4) B= 6A

. o ) 1 3 1 1),
The matrix A satisfying the equation 0 1 A= 0 is

1 4 1 -4 1 4 1 -4
oae] ol G) el l) el )

Let A and B be two symmetric matrices of same order.Then which one of the following statement is not true?
1) A+ B is a symmetric matrix 2) AB is a symmetric matrix
3) AB =( BA)" 4) AT B= ABT
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Vectors dand b are inclined at an angle 6 = 120°. If |é|= 1, ‘6‘ =2, then [(§+35) X(3 a-b )% is equal to
1) 225 2) 275 3) 325 4)300
If the projection of 51 — j —3K on the vector i +3] +AK is same as the projection of § +3j +2k on

5i — j —3k , then A is equal to

1)+4 2) +3 3) +5 4y +1
If the points whose position vectors 101 +3,121 —5] and al +11] are collinear then a is equal to
1)6 2)3 3)5 4)8

Ifa=i+ 2] + ZIZ, |5|=5 and the angle between aand b is g then the area of the triangle formed by

these two vectors as two sides, is

7 15 3 17
1) — 2) — 3) — 4) ==
) 2 ) 2 ) ) 2
lim sj
The value of wis
x—0,/x2
11 2)-1 3)0 4) Limit does not exist
3 _ 2x-3.
At x = —the function f(x) = ——is
2 2X —
1) continuous 2) discontinuous 3) differentiable 4) non — zero
x? -1 1
The function f(X) =4 43 .1 X# =L is not defined for x = —1 .The value of f (-2) so that function extended
P x=-1
by this value is continuous is
2 2
) 3 ) 3 ) )
. . X —|x] .
Let a function f be defined by f(x) = —— forx #0and f( 0) = 2. Then fis
X
1) continuous everywhere 2) continuous everywhere
3) continuous for all x except x =1 4) continuous for all x except x =0
2 lim f(x)-5 oo
If g (x) = (x*+2x+1) f(x) and f(0) = 5 and ————=4,then g' (0) is
x>0 X
1) 20 2) 14 3) 18 4) 12
The derivative of f(x) = x|x|at x = -3 is
1)6 2) -6 3) does not exist 4)0
ax*-b -l<x<1
ff(x)=1 1 gcewhere I8 differentiableatx =1, then
u
1)&: E’b:__3 Z)azfl’b:§ 3)a:7£’b:_—3 4)a: l’b:§
2 2 2 2 2 2 2 2
The number of points in R in which the function f(x) = |x =1+ |x — 3 +sin x is not differentiable , is
1)3 2)2 3)1 4) 4
2
j sezc X dx
tan® x -1
1)2 log 1-tanx 2) log 1+tan x re 3)llog tanx+1 4)llog tanx—1+c
- 2 tanx -1 2 tanx +1
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X
. szezdx is
X X X
1) x%e2 —4xe? —8e2 +¢

3) 2x%ez — 8xez + 16ez + ¢

1

— dxis
Ix,/(log x)* -5
1) log ‘x+\/x2 —5‘+c
3)log ‘Iogx+ \/(logx)? —5‘ +C
je‘&dx is
1) 2&(1—eﬁ)+c
3) Ze&(l—\/;) +C

X X X

2) 2 x%e2 —8xe2 —16€2 +C

2) log ‘Iogx+,/|ogx—5‘+c
4) log ‘Iog X —+/(log x)? —5‘+c

2)2 Ix(@e* -1 +c
4) 2eﬁ( \/;—1)+c

If aand b are chosen randomly from the set { 1,2, 3,4} with replacement , then the probability of the real
roots of the equation x*+ ax+ b= 0 is
7
3) —

D> 2>

16 16 16
In a certain college 4 % of the boys and 1 % of the girls are taller than 1.8 meter. Further 60 % of the students
are girls . If a student is selected at random and is taller than 1. 8 meters , then the probability that the student
is a girl is

2 3 5 7
1) — 2) — 3) — 4) —
) 11 ) 11 ) 11 ) 11
The probability of two events A and B are 0.3 and 0.6 respectively. The probability that both A and B occur
simultaneously is 0.18 . The probability that neither A nor B occurs is

ol
16

1)0.1 2)0.72 3) 0.42 4)0.28
If m is a number such that m< 5, then the probability that quadratic equation 2x* + 2mx+ m+ 1 =0 has real
roots is
1 2 3 4
1) = 2) — 3) = 4) —
) 5 ) 5 ) 5 ) 5

The function f: [0,2n ] — [ —11] defined by f(x) =sin x is
1) one —to — one 2) onto 3) bijection

1 + 1 + 1 +...18
V1443 V3+456 5447

4) cannot be defined

The sum up to n terms of the series

v2n+1 v2n+1-1
1) v2n+1 2) 5 3) V2n+1-1 4) —
If the two straight lines x+ (2k -7)y+ 3=0and 3kx + 9y — 5= 0 are perpendicular then the value of k is
1 2 3
1) k=3 2) k== Hk=— Hk=—
) ) 3 ) 3 ) >
a 2b 2c
Ifa#b,bcsatisfy |3 b c¢|=0,thenabc=
4 a b
1) a+b+c 2)0 3)b? 4) ab+ bc
If dand b are two vectors of magnitude 2 and inclined at angle 60° , then the angle between & and a + bis
1) 30° 2) 60° 3) 45° 4) 90°
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